

1463 Combermere Drive - Troy Michigan 48083 Phone 248-298-3855 - Toll Free 800-491-9350 Fax 248-298-3859

Estimate 32732

Vehicle #

Date 5/15/2025

Rep

Bill To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, Michigan 48048

Ship To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, MI 48048

			CHSI
Qty Item	Description	Cost	Total
	New Haven Village Fire Department Chief Daniel Stier 57775 Main Street New Haven, Michigan, 48048 Phone - 586-749-9351 Fax - 586-749-8976 Please accept the following quote to provide equipment and installation services for (1) 2025 2500 Chevrolet Silverado Fire Inspectors Vehicle - This will be an interior Whelen lighting package as discussed with a hand held controller for the lights and siren - As part of the lighting package we will put (2) green segments in the FST and (2) green segments in the FST as requested by Chief Stier - ** Revised**(Door lights removed - Scoop lights added on the hood - Interior light bars upgraded to DUO color - Headlight flasher removed - Added Whelen Micron red/white to the face of the side view mirrors driver and passenger side ** Lighting Package & Siren Controller		

Total



1463 Combermere Drive - Troy Michigan 48083 Phone 248-298-3855 - Toll Free 800-491-9350 Fax 248-298-3859

Estimate 32732

Vehicle #

Date 5/15/2025

Rep

Bill To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, Michigan 48048

Ship To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, MI 48048

				CHSI
Qty	Item	Description	Cost	Total
	1 IEXS1224	Whelen BSFW49Z - interior 2 piece "DUO" windshield Inner Edge and RST rear window tray promo - Includes CORE controller with hand held, OBDII Can Port cable and 100 watt siren speaker and bracket - Front Red/White W/ Flashing Take Down Lights and (2) green segments - Rear red/amber warning with (2) green segments in the build sheet - Interior light bars will now be DUO color with front full white scene and (2) green segments and the rear will be red warning with amber traffic advisor and (2) green segments	4,700.00	4,700.00
	2 TLIR	Ion T-Series Light Heads - Side steps	143.10	286.20
	5 IONR	ION Red - (4) in the grill railroad flash pattern & (1) on a license plate bracket	143.00	715.00
	1 IONG	ION Green - License Plate Bracket	143.10	143.10
	1 IONBKT1	ION License Plate Bracket	44.45	44.45
	1 ETFBSSN-P	Flashback Alternating Taillight Flasher, Solid State - 2.4 FPS	129.00	129.00
	2 TLIR	Ion T-Series Light Heads - Hood Scoop Mount	143.10	286.20
	2 TLMI2D	Mini T ION DUO Red/White	125.00	250.00
	2 MM1	Magnetic Mic Hanger - Hand Held Siren Controller & PA Microphone **Installation & Supplies**	43.00	86.00
	1 CB3-SM-80	Circuit Breaker	89.00	89.00
	1 ATO-FB8CF	ATO Fuse/Circuit Breaker	45.00	45.00
	1 TYR-001-1275	Mini Giant Relay 332 002 150	79.16	79.16
	1 39010	Terminal Block - 3900 Series 10 Section #8 Stud 30 Amp.	45.00	45.00
	1 Shipping	Shipping / Handling - Equipment in Bound Freight	150.00	150.00

Total



1463 Combermere Drive - Troy Michigan 48083 Phone 248-298-3855 - Toll Free 800-491-9350 Fax 248-298-3859

Estimate 32732

Vehicle #

Date 5/15/2025

Rep

\$9,598.11

Bill To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, Michigan 48048

Ship To:

New Haven Fire Department Fire Chief Daniel Stier 57775 Main Street New Haven, MI 48048

				CHSI
Qty	Item	Description	Cost	Total
	Shop Supplies Install	Installation & Shop Supplies Installation	150.00 2,400.00	150.00 2,400.00

Total



E info@priority1emergency.com P (734) 398-5900 F (734) 398-5904

> ADDRESS 5755 Belleville Rd Canton, MI 48188

Quote 102236

3/27/2025 4:37PM Expires: 4/26/2025

Station: 6

Page 1

Account:

1454

Code: 1454

By:

W: 586 749-9351 F: 586 749-8976

Terms: 30

Justin B

WWW.PRIORITY1EMERGENCY.com

Bill To:

Daniel Steir New Haven Fire Department 5775 Main St New Haven, MI 48048

Ship To:

Daniel Steir New Haven Fire Department 5775 Main St New Haven, MI 48048

SKU	Description	Quantity	Price	Total
	2025 Silverado 2500			
	FRONT EQUIPMENT			
I2D	Whelen Duo Ion Red/White	1.0	143.99	143.99
I2L	Whelen DUO Ion Red/Green	1.0	143.99	143.99
	Grille Lights			
	Alternate Red Driver - Green Passenger			
	Alternate Red/White Driver - Green/White Passenger Side Slide 3			
TLIR	Whelen TION Red	2.0	119.99	239.98
	Mounted on Hood Scoop Vent (If Applicable)			237.50
BSFW49Z	Whelen FST Inner Edge Silverado	1.0	999.99	999.99
	DUO Red/White Driver - Red/White Passanger W/Take Downs	1.0	777.77	999.99
CCP	Whelen Control Point	1.0	158.99	158.99
	SIDE EQUIPMENT			
12D	Whelen Duo Ion Red/White	4.0	143.99	575.96
	Under Rocker Lights (2 Per Side)		113.55	373.50
TLI2D	Whelen TION DUO Red/White	2.0	138.99	277.98
	Rear Bumper Foot Pockets Side Facing (1 Per Side)	2.0	138.99	211.98
	REAR EQUIPMENT			
TLMI2K	Whelen Mini T DUO R/A	2.0	110.99	221.98
	Red/Amber	2.0	110.99	221.98
	Rear Bumper Foot Well Pockets Rear Facing (1 Each Pocket)			
BSRW8	Whelen DUO WCX Rear Inner Edge	1.0	1299.99	1299.99
	DUO Red Warning W/Amber Traffic Functions		12/7.57	1277.79
SR49	Whelen RST WeCanX Inner Edge	1.0	0.00	0.00
ССР	Whelen Control Point	1.0	158.99	158.99
	SIREN COMPONENTS			

SKU	Description	Quantity	Price	Total
HHS3200	Whelen Hand Held Light/Siren Cnt	1.0	599.99	599.99
SA315U	Whelen Siren Speaker	1.0	229.99	229.99
SAK9	Whelen SA315P Bail Bracket	1.0	0.00	0.00
	ADDITIONAL COMPONENTS			
MM1	Magnetic Mic Clip	1.0	39.99	39.99
CCAS-SB-7-800	Sti-Co Stinger Antenna	1.0	145.99	145.99
	INSTALLATION			
SHOP	Shop Supplies	1.0	50.00	50.00
CB-185-100	Surface Mount 100 Amp Circut Breaker	1.0	79.99	79.99
PARTS	Wire, Fuses, Connectors, Loom,	1.0	525.00	525.00
LABOR	Labor	1.0	3000.00	3000.00
	Installation of Above Equipment and Customer Supplied 80	0 Mhz Radio Into 2025 Chevrolet Silve	erado 2500	

 SubTotal:
 8,892.79

 Exempt:
 0.00

 TOTAL:
 8,892.79

We appreciate the opportunity to quote you on this project! Please review this quote for accuracy as any changes may result in differences in pricing and/or terms of sale.